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2.1 O0O0OO

gogobobbobboduddgyjuooooooobobbodoooooooboon
gbooobebdoboobOobobOobOoOonO

¢ = argmazx.P(e| j)

~ argmaz.P(j|e)P(e)

P(j|leyDOODOOOOPeOOOODDODOOODDODODOOODODOOOODOOO 210000

FEF—F
BE2d—2 BEI— A
Fo)EEE T, The riveris running into the sea.
AEAL T &L, Give me some water,please.
EEIFEALA T, The air was clear.

v v

HEEEF I EETFIL
P(jle) P(e)
ZL—ZF=T N-gram

AN T

MakILEA TN, 71— The water in the river was clear.

P(jle)P(e)

U 21: 000000000
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2.2 OJO0O0OO

gobbbuoodgbobbooodgbbboooobbbuoooobbbooobbh
gogbbbuoooobbbuoooobbbdooobobbboooobobbboooobbn
ggbbbuoooobbbuoooobbbooobobbboooobbbboooobbon
gbooboboobobooboboooboob 2100b000b0o0obboooboobn
gogbbooboogd

U21: 0000000000
000 ||| The storm ||| 0.025 0.122856 0.0555556 0.105324
000 ||| Yesterday , ||| 0.2 0.235839 0.0131579 0.00783859
0000 ||| each ||| 0.0714286 0.0183908 0.125 0.0418848
OO0 O O ||| intense cold ||| 1 0.00103928 1 0.00334861
00 O O ||| front of the entrance ||| 1 0.015335 0.5 0.0018312

000000000000000000000000000000 P(j|e0O0O0O
00000000000000000000 P(e|j)00000000000O0DOOODO

2.2.1 IBMOUOUO

gboboooobobg IiBMOOobooooooIiBMObDobooono e
0,;000000P(j|leDOOOOOOOOODOODODO eODOODODODODODODODODO
gbbodboogbobooooboobboobbuoobbgybodb e n
goooogo

P(jle) = > P(jale)

[BMOOOOO0OOOODOOODO0ObOODbOO0O 10000000 DOODO0ODbDODO 10
gobobobogoobobooboooobbboooobbboooobobbooooonoon
gobbboooobboooobbbug ebbogobbbO
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gobbobooogbbodao

0000“0dfd0d0dd0oodogobbbD”d “language is a means of
communication.” 00 000000000000 22(0000)00 23(0000)

0000000000 ‘e”00000000O0O0O alignment 0 OO0
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00000000000 0000000000000 (intersection) 00O O OO
0000000000000 000000000O (wion) 0000000000
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00000 (grow-diag-final 00 )0 00000OC0CCOCCOOOOO0OO0OOOOOOO
ggogoobbobobobboodoogboodoouooboboobbboboooo
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0 2.6: 00000 alignment 00000 (grow-diag-final)

language

1S

a

means

of

communication

g

gooo
gooonf

ag [ | ]

g

026000000 grow-daig-final OO DOOO00O0ODOO0OOOOOOODOOODO

gobbbooobboboooobbobdogoobboooon
gg3bougooboobodad

gboobodbdbaaignment UOUODOOODOOO0OOOOODOODOODODOODO

gbbodgboogbobuodgbboooobbooboooubooobuoobobod

gd27oggg

027.000000000000000 (grow-diag-final)

00 ||| language ||| 1111

000000000 ||| communication ||| 1111

000000000 O ||| of communication ||| 1111

000000000 O 00 ||| ameans of communication ||| 1111

OO0 |||]ameans ||| 1111

O flof|]j1111

000 |||]ameansof ||[[ 1111

OO0 0000000000 000 O 00 || language is a means of communication |||
1 0.0987654 1 9.28785e-05
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00000o0oo00obOoboobOoooooob0ooDoobooooDoobooooOooo
0000b0o0obo0oboobooobooobOooboobOooboboooooooooo
O0o0obOoobOoobooooooooog

0000000000 N-gramOO00ON-gramO “0000 wé = wy,ws,...,w; 0 i0
0000 w00000 Pw,)0DOO0O (¢(—1)000000O0P00000000000O
00o00oooooooboooog

k=1

P(wy) = [T P(wi | wi-y)
O00O0OTeatdinner. 000000000000 2-gramJ 0000000 0O0OOO0O
P(e = “I eat dinner.”) ~ P(He)x P(eat| He)x P(dinner | eat)*x P(.|dinner)

-gram00000OIeat0 000 20000000000 0dnnerd 0000000000
goooboboboobooob NODOODbOoobooboooNgramDDOOoooooooO
gbhobobooooobotdnN~gramd 0000000 bOOooooooooooooboon
gobogdbbuobbuoobobooobboobbobboobboobbooobo
goboooooooooboobd NgramODO0OO0O0OOO0OOD0OOOO N-gramUOO OO
000000000 o0bO0bobDbo0bObOKneser-NeyD Oooooooooono
O000000 NgramOOOOOO0OO Kneser-NeyUOOOGOQOOOOOOooooOO
gogboboboogog 280000

028 0000000
-1.557193 Because of
-1.92458 absence from
-0.8959993 account for

0000100000 log,o(P(of | Becaouse)) = —1.5571930 0000000



gobbbooggbbbuoobboboooobbboooobbo29b0bbobboOd
U200duggouoooggsoutuuoutdz2gram 000 oooooooDoO0
ERERE

029 000000000000000000O00O0O0
00000 ukndiscount D0 000000
-3.202558 the boy
-2.963157 the child
-2.298372 at all
00000 kndiscount OO0 000000
-3.179705 the boy
-2.978517 the child
-2.283957 at all
00000 ndiscount D00 O0O0O0OOO
-3.068275 the boy
-3.068275 the child
-1.493827 at all
00000000000 (Good-Tuning-discounting) D 0000000
-3.385125 the boy
-3.385125 the child
-2.405329 at all

g2900d0g0doobooogb 2100000

0 210: 0290000000000000000 (000000O)

Faith can movemountains .

Please move over more to the right .

His way of thinking goes too far .

She has learned a good deal of literature .

A computer employs the two digits of the binary system .

As you know , the Hong Kong Textile Show falls on April 24 .
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gbuogboboobooboboobuogbobbobuogbobboobuooobon
00000000 mosesh]D000moses0 0000000000000 0OODOOOO
oo

2.4.1 mosesUD0OOOO

moses U UOODODOUOOOOODDOOOOOOO

e weight-:0 0 0ODOOODOO

weight-t:0 0000000

weight-d:0 000000000000

weight-w:0 0000000 0O0OO0O0ODOO0OO

distorsion-lmit:0 0 00000000 0OO0O0O

gbogoboobobboboobuoobooboobobboboobooboon

242 0OJ0O0O0O0OO0OOOOOOO

00000000000 000OMinimum Error Rate Training(MERT)[6] 000 0O O
gobobooooboMERTOOOOODDOOOUODDOOOODbOoOoOobboooboD
000000000000 bO00b0OOdevelopment 0O OO0 O0O0OD0OO0OOOODOO
gooobobobbbbouooodd icotooooobobobbbbuooooooooo
goooobbbbbbbobobooooooououooobbbbbouoooa
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goboobo“cb0O0r’oboooobobob0bD0obDoboooOobUobobDOobDo
goo0oooboobobooooooobDob0obooboooooDoboboboooboo
0000000000 grow-diag-final 000000 OO OO grow-diag-final 0 0 0 O O
goo0ooOobo0obOobOoooooOOobDOobO0obOoooOobOoDOoboboboooo
goo00doo0ooO0obOobOo0ooooOOobDOobO0obOoooOUobOoDOobOOoboboooo
oooooo

gobooobioooboboobobboobobooobbOoobibd intersection U
g0o0obooOOo0obO0obO0obO0o0obOO0DbDO “cob”bobOobU0oo0bOobobOooo
g00o0ooO0obO0bOOobOoU0obOooOOobDOobOOob0obobooobOOobDOoDOoDOoDOO
000000000000 0000000D0000 grow-diag-final 000 ODOOOOO
goooboobobobooooobooboboooboo

oooo

00000 o0OoooDoODoOoOoooao
She has improved her skill in cooking recently .

O0000grow-diag-final 000000000000 OONO 3.400 intersection O O
0o0oobooobooobooo 3s000a
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O 3.1: grow-diag-final 0 0 0000000000000 (08000O0O)
O ||| skill [[[11 112718
O ||lin])|1110.252.718
000 000000 O || has improved her skill in cooking
recently ||| 1 0.140625 1 0.0146484 2.718
00D OO0 ||| She||10.25112.718
O ||| improved ||| 1111 2.718

0 3.2: intersection 000 000000000000 (0 9YODOOOOOOO)

OooooOoooogd

O

1. 1] 0.166667 1 0.25 1 2.718

||| cooking recently . ||| 0.142857 1 0.125 0.01 2.718

||| recently . ||| 0.142857 1 0.125 0.1 2.718

||| skill in cooking recently . ||| 0.142857 1 0.125 0.0001 2.718

000 O O || . ||| 0.0833333 0.000364432 0.142857 1 2.718

000 O O ||| cooking recently . ||| 0.142857 0.000364432 0.142857 0.01 2.718
||| in cooking recently . ||| 0.142857 0.0714286 0.142857 0.001 2.718

||| recently . ||| 0.142857 0.0714286 0.142857 0.1 2.718

|| skill in cooking recently . ||| 0.142857 0.0714286 0.142857 0.0001 2.718
0000 O O . ||| 0.0833333 5.57804e-06 0.142857 1 2.718

O 000 O O ||| cooking recently . ||| 0.142857 5.57804e-06 0.142857 0.01 2.718

O

U
U
U
U

000 OO0 ||| She has improved her ||| 0.142857 0.0714286 0.142857 0.001 2.718
00D OO ||| She has improved ||| 0.142857 0.0714286 0.142857 0.01 2.718
000 00 ||| She has ||| 0.142857 0.0714286 0.142857 0.1 2.718

000 OO0 ||| She ||| 0.142857 0.0714286 0.142857 1 2.718

11



3.1

Jooooooo

gobboboooobbbooooboobooo 3.1ood

H// — —_—
287—5 REFER
grow-diag-final intersection
TERR CTIERX
IL—ZF—TI IL—ZF—T " .
= Z —X
B || storn (]| BB |1 act ||| | EEEO7ETS
0.4 0.25 0.8 0.5 9.2 0.1 0.25 0.0 =
SENI .
B (15 LT T L — 250
=8 |[] act ||
0.2 0.1 0.25 0.0

REFE

U3l:0b00gaooon
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o1

O0bo0o0oooogbOog “grow-diag-final” OO0 000000 OODOO grow-diag-
finalOO00O0O0O0OD0OOOOOOODOODOO 330000

O 3.3: grow-diag-final OO0 0O O00O00000OOOOO

0000 ||| too ||| 0.0366492 0.0452586 0.203883 0.403846 2.718

0000 00 O ||| all kinds of ||| 0.0533333 2.14961e-05 0.153846 0.000173174 2.718
0000 00 O ||| in every case ||| 0.5 0.000685416 0.111111 0.00317505 2.718
0000 O O ||| in every respect ||| 0.0294118 0.000268458 0.333333 0.000197242 2.718
0000 O ||| visibly ||| 0.0277778 0.0041493 0.0416667 0.166667 2.718

gg 2

O000O0D00O0O0000 “ntersection” DO O0OO0OOOOO0ODO intersection O
go0o0o0ooobooooooooo 3400go

0 3.4: intersection 0 0 U0 D O0D0O000OO000O0O0O

0000 ||| every ||| 0.0280778 0.0215589 0.288889 0.134021 2.718

0000 ||| took every possible ||| 0.5 0.0215589 0.0444444 4.12434¢-08 2.718
00 ||| when and ||| 0.5 0.002551 0.0102041 8.65508¢-05 2.718

00 ||| when ||| 0.00207039 0.002551 0.0102041 0.0098039 2.718

ERERE
ERERE
ERERE
ERERE
ERERE
ERERE
ERERE
ERERE

|| as usual , ||| 0.0454545 0.318841 0.00087184 2.394e-06 2.718

11| always ||| 0.0425532 0.318841 0.00348736 0.00021795 2.718

] as usual , ||| 0.0454545 0.0216902 0.0196078 2.394e-06 2.718

] as usual ||| 0.0425532 0.0216902 0.0784314 0.00021795 2.718

||| at eleven as usual ||| 0.142857 0.0216902 0.0196078 3.71658e-11 2.718
[ eleven as usual ||| 0.142857 0.0216902 0.0196078 4.18463¢-09 2.718
00 O ||| as usual ||| 0.0106383 1.19086-08 0.5 0.000154138 2.718

00 O ||| usual ||| 0.00564972 1.19086-08 0.5 0.0294118 2.718

|

O Ooo0ooOod
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ud 3
gbogbboobuodbuogboobbobbuogbuooboobbobbod
gobboboogbb 350000

g 35 b0buooobbbougoobbouoooobood

oooo || all|

oooo ||| every |||

0000 ||| multitude of, a |||
00 ||| when ||

00 OO0 ||| from what time? |||
00 OO0 ||| how long? |||
000 ||| always |||

000 ||| at all times |||

000 ||| at every moment |||

000 ||| at every turn |||
000 O 00O O ||| as usual |||
000 O 00 O ||| as always |||

o 4
gb200b000boobobooboobobuoobooobooboboooboon
ggbbobooooobb3eddng

036 0000opooooggoon

0000 ||| every ||| 0.0280778 0.0215589 0.288889 0.134021 2.718

00 ||| when ||| 0.00207039 0.002551 0.0102041 0.0098039 2.718

000 ||| always ||| 0.0425532 0.318841 0.00348736 0.00021795 2.718

000 O 00 O || as usual ||| 0.0106383 1.19086e-08 0.5 0.000154138 2.718

0000000000000000000 intersection 100000000000
000000D000000000000000000000000000000
350200 “0000 [[|every | 00000000000000 340 “000
0 ||| every ||| 0.0280778 0.0215589 0.288889 0.134021 2.718" 1000000000
000000000000000000000 “0000 |||every ||P00000
“0.0280778 0.0215589 0.288889 0.134021 2.718” 0O 000 O

00000000 ||| when [||70000000 “0.00207039 0.002551 0.0102041

14



0.0098039 2.718" 00O OO “000 ||| always ||| 0000000 “0.0425532
0.318841 0.00348736 0.00021795 2.718" 00000 “000 O 00O O ||| as usual
1’000 “0.0106383 1.19086e-08 0.5 0.000154138 2.718” 00 0 0 O [

ud s
gbil1obogbgobooobobobobooboboboboobobobo1on
gbobobobooooooooooooobooooopoboobobgsrooon

3001000000000 00000000000000000000000

0000 ||| too ||| 0.0366492 0.0452586 0.203883 0.403846 2.718

0000 OO0 O ||| all kinds of ||| 0.0533333 2.14961e-05 0.153846 0.000173174 2.718
0000 OO0 O ||| in every case ||| 0.5 0.000685416 0.111111 0.00317505 2.718
0000 O O ||| in every respect ||| 0.0294118 0.000268458 0.333333 0.000197242 2.718
0000 O ||| visibly ||| 0.0277778 0.0041493 0.0416667 0.166667 2.718

0000 ||| every ||| 0.0280778 0.0215589 0.288889 0.134021 2.718

00 ||| when ||| 0.00207039 0.002551 0.0102041 0.0098039 2.718

000 ||| always ||| 0.0425532 0.318841 0.00348736 0.00021795 2.718

000 O OO0 O ||| as usual ||| 0.0106383 1.19086e-08 0.5 0.000154138 2.718

ggobobbodgglggoobobbuoooobobobooooobobosbon
ggbobuoooobbooooooboood
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40 4UOood

4.1 0O0OOOO
4.1.1 0O0OO0

“00 07 00EDP(Electronic Dictionary Project) 0000 000000000000
gboboooboboooo“co0’oboobobouooboobobooboobooon
gogbobboooobbtboouob 4100040

04.1: 00000
B ineveryrespect : OO DDOO0O0O0OOOOOO
odoooooooooooooo
minasense: JO0O0ODODO0O0O0OOOOOOOO
000000000 /OO0OO In a sense, what you say is true.
0000000 oooooooD
m ontheright track : OO DO O0OO0OO0ODOOOOOOO
gooooobbbbooooogooooobbbbbooooo
odododooooooboboooooooooooooooooon

4.1.2 00O0OOO

gboboooboobooboboobbobboobbooboobb 100000000
gogbbbuoooobbbouoooobbbooobobbboooobobbboooobbn
gboowoo000b0b0booboobobooboobbooboobbooboobn
Ob0ob0obOobOobOobob chasenODOD0OOO0O0OO0OOO0OOOOOODOODODODO
gboobgoboboboobobbobooboobooboobg 420000

16



042: 0000000
O00000000a0
I go to see a movie .
O000 0000 oo 0o
The mind expands with experience .
000000000000 O03d
I soon found that person’s house .

4.1.3 0OOOO0OOO

gbobooboboobobgobboic0otbbobooobboobobod
gbgboobobobgobi000b0bobbo0oooboboobobobbon
g0000obooboOdbchasen0 000000000000 ODOOOOODOOOOOO
gboobgoboobobbobboobooboobooboo 430000

043:. 00000000
00 00000o00ad
Faith can movemountains [J
0000000 O0O0oogo o
Please move over more to the right O
00000000 Oogd
His way of thinking goes too far 0

4.2 JO0O0OO0OO0OOOOOOOOO0OO0OOO0

UbbO0O00OmtersectionJ 0D UOO00OOO0O0OODOO0OOOO0O0OO0O0O0OO0OO0
gooooooooboooooboboboboboboboboobooosbooooooo
gboooboobobboboobuoobuoobo 440000

ooooob “coo"ooonoeg34aibobobobobobobobooogon
O0o0O0oopoobobooooobogbodbchasenD 000D OOOoOoOoOoOOoO
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044 00000000000000O0O0OOO0O0ODO
0000 O O ||| in every respect |||
00 00 O O ||| in a sense |||
OO0 O OO0 OO0 ||| on the right track |||

4.3 U00O0OOO0OOOOOOOOO0O0OO

0000000000000 00000000OO0 train-phrase-model.perl[8] 0 0 0O 0O O

4.4 N-gramUJOOQOOO

O000000O0N-gramOO0000000N-gramO000000ODODO“SRILM[9]” O
gobooooboogbsgram00000000O0O00ODO0OO0OOOCOO “kndiscount” O
gogob

4.5 UOUUOO0Ooooood

O00dooboboodtdbdmoses000000OmosesOD00OOO0O0OOOOO
O0000000000000000000000OMinimum Error Rate Training(MERT)
00000000000 00O0OMERTOOOOOOOO (DOOBLEU)ODDOODOOOO
oob00000000ooooooooobooononoo0nndddevelopment 0O OO
gooodooooooooooooooooooogoonoooooooooonod
goooodoooooooooooooooooooooooooooooooonod
Oo0000000Odevelopment 000000000000 O0O0OC0O0O0OOOOOOO
ooooo0oooo0O000000000000000000000000020 0 “weight-
t70 “0.50.0050000"0000000000000000000000000000
“distortion weight” 00 “0.2” OO0 O

4.6 UOOOO

gobbboooobobooooboobooooboboooobbbuoooobooon
gogbobobogoobbooboooobobboooobbboooobobbuoooonoon
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00000000000000000000000DO0O0O0O0O0000 “BLEUL0)” O
“METEOR[11)’00000BLEUDOODOOOOOOOOOOOOOOOOOOOOO
gboobobobooboooooooobobooboob0obOobObO0obOMETEORODOO
gooooobooooboobOob0o00OOBLEUMETEORODDODODOODOOOO1
gbbogboolboobodgbuoudgbbut1ligobboobug1igobooboobo
ggbbobuogobbbooooboobbboooobbebuooob
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s ool

5.1 UO0OOOOO0OO

goboboooobobbooooboooobobo 10000000000 0O grow-diag-
finnlDO0D00O0O000OODOODOOOOODOODOODOOOODOODOOOODODOO
0 100,0000 00 000O0grow-diag-final 0000 O00O000ODOODOOOO

gobbbuoooobboooooobobooooboboboooobbbuoooobooon
b0 “obog’ooboboboboobobobobooobobOobooobobo
gbbodbogobobogobuodgbbooobbooboobobogsibooon
gogboboboogobboboooobbboooobbboooobobbuooonoon
goobs20000

0 5.1: 000000000000000

gogooodg gogooog goon

303,480 18,237 32,1717

052 00000000000000000

gogooog gogooog goon

235,684 17,581 253,265

‘00700000000 1,083440 00000000 182370 000000DOO
gobbogobogbboogobivssioguoooogooooooobaooon
gobboooggbboogs3biboon
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U s53: 000000000000

0000 O O || in every respect ||| 0.029 0.002 0.333 0.001
00 00 O O ||| in a sense ||| 0.167 0.001 1 0.007

00 O 00 00 ||| on the right track ||| 0.1 0.003 0.111 0.001
000 ||| odor ||| 0.139535 0.428571 0.0431655 0.0821918 2.718

000 ||| scent ||| 0.012987 0.04 0.00719424 0.0136986 2.718
000 || smell ||| 0.108434 0.313953 0.194245 0.369863 2.718

0000 00 ||| little ||| 0.0134831 0.00119611 0.16 0.190083 2.718

0000 O || most ||| 0.0204461 0.00350662 0.0973451 0.0550964 2.718

0000 00 00 || see little of ||| 0.111111 1.9377¢-08 0.142857 2.64288¢-06 2.718

0000 00 ||| almost daily ||| 0.0625 0.0661251 0.0714286 0.0125219 2.718

0000 OO0 ||| almost every day ||| 0.5 0.0367361 0.0714286 5.93539¢-05 2.718
00 ||| influence ||| 0.100478 0.43299 0.112601 0.212121 2.718

00 O 00 ||| influenced by [|| 0.037037 2.85178¢-06 0.333333 0.000223366 2.718
00 00 || affect ||| 0.0126582 0.000195759 0.1 0.0050505 2.718

00 O 000 ||| affect ||| 0.0759494 2.05052e-06 0.0789474 0.2 2.718

00 O 000 ||| affected by ||| 0.0172414 5.16808¢-07 0.111111 0.000297822 2.718

00 O 000 ||| affect ||| 0.0379747 1.02526e-06 0.0588235 0.0483871 2.718
00 O 000 || impact ||| 0.00869565 6.60723¢-07 0.0196078 0.0322581 2.718

5.2 UUOUOOOOUOO

Os400 5500000000000 00O0ODO0O0ODOY0ODO BLEUDOODOO

010000 METEORODOODOO

054:. 0000000 (BLEUDO

)

goon gogooodg goon

HEN 0.118 0.121

ggon 0.082 0.084
0 55: 0000000 (METEORDO )

goon gogooodg goon

HRN 0.360 0.368

goon 0.323 0.329

gs400s5000000bb0b000u0bbobooboooobbooooobbonooa

BLEUOO METEORODOODOODOOOOODOODOODO
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goggobobbbobobbbbbbbuoooooooobbbobosetbbbbh
gboboobbooboooboobboosrboobuoooboobbboobn
gogboboobogoggsspougn

O56: 0000000000 O0ODOO0ODOOODOODODOOOOO
0000000o0obO0obO0oooooooDg1l
OO00:00 00000 00ODO OO0

O O O :Students report to school by eight o’clock .
000000 :The students will be to school by eight o’clock .
00O O O :The students go to school by eight o’clock .
000000DO0bO0o0oo0OooooooDg 2
O00:000 000000000

0 00O :To go to a movie theater to see a movie .

000000 :movie theater to go to the movies .
00001 go to see a movie theater .
00000o0ooOobOoboooooooog s
O00:00 000000 O00OOoOD0OaD
O O O :She had the news at second hand .
O000000: The news of the indirectly informed .
0 0 O O :The news informed the indirectly .

giligogobobgoboboobobooboboobobooboboob 2000
gooooopbobO “go"0booooooboboboboonogn “gomdbooog
gboobuooboobooboobogs3sbooboobooboobooboon
gobbbuooobbboooobbbuoooobo
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gs7obuogdobobuooggbobbuoognobboooonbn

ggbbbuooobbboooobbobodagl

o00:00 00000000
0 O O :He ruined his health .
000000 :He ruined his health .
0 0 0 0 :He ruined his health .

ggbbobuogoobboooobbobog 2

O000:0000000d
00O 0O: The stars are twinkling .
000000 :The stars are shining .
0000 : The stars are shining .

gogbobobooogboboboooobobobg 3

000:00 0000000000
0 0O O :The market is steady .
000000 :The market is firm .
0 O 0O O :The market is firm .

gilbb20030bb0bu0gobobouogbbboooobon
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058 0000000000000 0000D0O0ODO0OOO0
0ooooooooooooooooono 1
O00:00 000 000d
0 O O :She doesn’t scruple to tell a lie .
OO00000:00 in tells lies .

00O 0O O :tells lies without batting an eyelid .
0o0o0o0oooooooooooooon 2
O000:.0000000000 0 000D D0 DO0DO0O0OD OO
0 O O :Supercomputers open up new worlds of possibility .
O000000:Thenew OO0 DOOO0D0OOONO will hold the possibility of the world .
0 O O O :The new possibilities will hold the supercomputer of the world .
0oo0ooooooooooooooono 3
00000000000 dD0O0O0ODO0ODODOoOoDOoogaon
0 00O :I am speaking from a disinterested motive .

000000 :I always neat from a motive say that is the time .

0 0O 00O :I say that is is out of pure motives .

01000000000 “00000070 “without batting an eyelid” 0000000
0000000000000 0DO0O0000000DO0DO0DO0oDoDOooDOoD 20000
000000 “possibilities” 0 “supercomputer” 0000000000 OO0OOODOOO
0000b00o0obo0oboobooo3guboooboobOoobOonD 9¢"020000
000000000000 000D000D00D00O0on

00000b0O0ooob0ooboooobO0oobooboooooogos90nnooon
00o0D00o0oo0obOoooobOoboooosioboobobobooooooooon
0000obogooogs11b000
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gs9 0bi0gobbbougdoboboooobobuoooobn

ggboobobuooooboboboooobobol

O00:00 00000000 o0 oooooooo oo
00 O O :His voice trailed off to a whisper .
000 0O 0O O :His voice is too small for me to be O 0 0O 0O O gradually became .
0 0 O O :His voice is too small for me to be gradually rose to a whisper .

gogbobobooogbboboooonobn 2

OO00:0000000000000DOOO0000o0oOo0oooao
0 00O : The Nobel Prize is considered to be the highest academic distinction in
the world .

00 0000:Heis the best 00O OO prize is thought of honor .

O 00O :It is considered to be a Nobel prize the best of honor .

gogbobuogooboooogboobg 3

0000000000000 OobDbooooooDao
0 0O O :He set us a good example by his diligence in-attending to his duties .
O0O0O0000O0: He is hard for us to take a 0 O showed .
0O 0O O :He showed a model for us to take hard work .

01000000000 0obooboobD “ooobo"b0bobob0d “whisper” 00O
gogbobboboogoobbobobuooooobbbbouoooobbob 20000100
O0MO0obO0obO0obO0oU00O00nD “b0ob0”"0b0obOobOo “Nobel”’DODODODOO
gbobogbodgbbuogbbooobbogboobbb3gobo1nb 20000
gbobobobobobo sgb"bobobood “model”d00nononoobDOO

gogbbobuoooobbboogobobbuoooobbbooooobood
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U s5.10: bbb ooogbbbuooobbbooooobboood

ggbbbuooobbboooobbobodagl

o0D0:00 00000000
0 O O :She is an excellent student .
000000 :She is an excellent students .
0 O O O :She is an excellent students .

ggbbobuogoobboooobbobog 2

O00:0 000000000 00O 0OO0
0 0O O :He is all talk and no action .
000000 :He is just the execution does not say action .
00O O O :He is just the execution does not say action .

gogbobobooogboboboooobobobg 3

OO00:00 000000 D00 0O0OOdObo oo

0 O O :There is no question of her going to college .

000000 :It is impossible to her to go to college .
0 00O O :It is impossible to her to go to college .

gilbb20030bb0bu0gobobouogbbboooobon
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0 5.11: 0000000000000 000DOOO0000O0OOO000
0o0o0o0oo000oooooooooool
000000000 000000000000 ooooooooogao
O O O :There is a rule in soccer that one must not touch the ball with one’s hands .
000000 :Soccer is that there would be no ball touched the rules .

0 0O 0 O :He is that there would be no soccer touched the rules .
0000o00000poooOooooooo 2
000000000000 O0O0Oad
0 O O :The ship was wrecked in a gale .

000000 :The ship in a storm , and OO down .

0000 :The storm , and had to the shipwreck .
0o0ooooo0oooooooooog 3
000000 000000000000 0O00anf
O O O :Her face clouded over momentarily when I referred to it .
0000 0O0OJ:Her face was cloudy touch the matter .

0 O O O :The matter touch her face clouded for a moment .

glgodgobbobbouooobbobboooooobobobboooooobon
goboogo20b000b0 «groboobo0oboboobo0obooboobooobooooDbog
gbboobobbobboobuoobooboobobooos3sgbbobobuogaoon
ggbobbbooooobbobboooobbbooooobbobbooooobon
goon

5.3 UUOOOO

gbogobgobobos200buooboobobbobn

5.4 UO0OOO

gbogbgoboobgobobobobbobboboobooboiooobod
gbogoboobobboboobuoobooboobobboboobooboon
gboobdgobooboobobbobboo
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5. O QU400

gobooboooboOobooooobooobDoboooobooooboDobo“obgbo™O
gboobouooobobobooooboobobuobooboobobobobobCD
O0x"000000000000000000bO0b0obOobDooDooooooboOon
gooooooboobooooboooo+“boboor’obooboboboobooboog
goooboobobooswboorooog

5.6 O 0UOO

gs12000000040d

g s.12. 00000040

gbb0bOo gogddx gooood goon
ERN 5 3 4 38
gooo 9 0 3 86

gs.l1i20b0oboobobgoobobobbobooboobooboboboood
ggbbobuooobbbuoooobbbuoodgbobb2ebbb00goobn
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5.6.1 UO0OO0OOOOOOOODLOOOOOOOOOO

gobbbugobobbooogbobbuoooobbbuoooobbbuooobobn
goboosi13bdggu

0 513: 0000000000000 000O000DO0O0OOoODbOOoooOoOon
Oooboooboooboobooboobooooot
o00:00 00 0000a0
0O O :He gave a noncommittal answer .
000000 :He got out OO .

0 00O O :He got out a definite answer .
Oo0o0Dooboooboooboobuoobooboo 2
00000000 0ogoooboooao
0 O O :He lives in poverty .
O0D00OD0O:He has alife 000 .

0 0 0O :He has a life of inconvenience .
Oo0o0oboobooobooobooobuooboobono s
o0o0:00 00 00O OO oo og o
OO 0O :I can’t restrain myself any further .
O00000:00 cannot do more than this .

0 000:I cannot do more than patience .

O01000000000000D0000 “00”0 “definiteanswer” OO0 O0O0O0O0DO0O
gboobuoobooboobgooobobbobbobbooboobo 2000000
O0000ooooog “00070 “nconvenience” 0 OOODOOOOOOOOOOO
gboobuoobooboobooboobbobbosobooboobooboon
OO0 0070 “patience” OO ODOOODOO0OOOOODOOODOOOOODOOODOO
ggboobouoodgooo
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gogbbbuodgobbooogbobbuoooobbbuoooobbbooobobon
gbooobdgos14000o0

0514: 0000000000000 0O0O0O0O0ODO0OO0O0O0O0ODOOOODO0O0O0
OO00D0D0O0000D000O0DOO0obO0obOooDooDog1
OO00D:000 0 0000000 O0O0o0O0oo0DoDpoOoOooDoogooad
0 OO :How are we going to solve the mess you have got into ?
O000000:Iwil try to get out of your 0 O or not .

0000 will try to get out of your plight or not .
0000000000000 0O0DO0bOoboooO 2
00000000000 00dodbd0 000 gbbbooao
0 0O O :Jack cracked a pair of eggs into the frying pan .
000000 :Jack two pieces of the egg 0 00 0 O O separated and put it in .
00 0 0O :Jack two pieces of the egg separated and put it in the frying pan .
O00D00b0000D0000obO0obOoooooooDo 3
0000000000 DO0D0ODDO00O0OODODDODODbOO0OO0OOoOo
0 O O :Harry gets his paycheck and immediately spends it on his car .

O000000:000 salary as soon as I get the car to use .

000 O :Harry as soon as I get the car using a salary .

O10000000000000000 ‘0070 “light”00000000DO0OOO
gbooboobooboobobobobbobbobboob 20000000000
goooono “00boob0”D “ryingpan” OO0O00O00O0O0OO00OO0OO0OO0OO
gboobobgooobobooboobgoooboo3oboobobooooooboDbO <>
o070 “Harry” OO D ODOOD0OOD0OODOOOOOOOOOOOOOOOOOOOOO
gogooo
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5.6.2 UJ0OO0OOOOOOOOODOOLOOOOOO

gobbbugobobbooogbobbuoooobbbuoooobbbuooobobn

g s150000

g sl gdbbobuoggobbbuooobboooobobobogo

ggbbbuoooobbbouooobbbodgol

000:00 00000 O000Oo0O o
0O 0O O :The course finishes in January .
O00000:The OO in January ends .
0 0O O :The chair is in January .

ggbobbooogbbboooobbbag 2

O000:0 0000 00 0obOOoOoDooood
0 O O :He is clumsy by birth .
000000 :Heis a born with 0 0O is .
0000 :He is a born with a cat’s paw .

ggbbobuoobobboooobbbood 3

O00:00 00 0000000
O O O :It’s before my bedtime .
000000 :Isleep is not yet time .
00O 0O O :The time is still in bed .

0l100boboooooooooboo0o “cobo’bobobooobbooobobbooooboboOon
gobooboooooobooooboooboobooobooo 200bbOobD “obo”bOoO
OoboogoD “cat’spaw” DOOO0OOOOOOOOODOOOOOOOOOOOOOO
gbogs3sbgoboobuooboobuoobooboobooboobooboob
ggbbbuogooobbbuoooobbobuoooobbboooon
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5.6.3 U0OOOOOOOOOODLOOOOOObOObOOOn

gobbbugobobbooogbobbuoooobbbuoooobbbuooobobn
gogbboobogsleggdd

0516 0000000000000 0O0O0ODOOOODOODOOOOODOO0OO0
OO00D00O0000D0000DbO0b0obOoOoDOooOooDo 1
OO00:00 00000 0O0ODODDO0O0OO0OOOoOOod

0 0O O :Our homeroom teacher gets angry easily .
000000 :I have made a quick with a class teacher and the teacher .
00O 00O I soon angry at the class teacher and the teacher .
000000000000 0DbO00O00DO0ooDOooDOoDOo 2
000:0000 0000 0O 0
O O O :If that is the case , I agree with you,too .
O000000d:That , I will visit to China .
0000 :That , I favor .
000000000000 0DbO00O0oo0oDOooDooDOooDo 3
O00:00 000000000
000 :I made a firm promise with her .
O00000:1had a 00O with her .
0000 :I made a firm with her .

glbgobgooboobooboobooboobooboobooboobon
gbgoboboobooboobooboboobooboobobo20b0000
gogbbbuoooobbbuoooobbbooobobbbooobbboooobbn
gboobuoobooboobooboobbobbob sbbooboobooboon
gobooooogoobooooboobooobooooboboooobooooo “norodg
ggbbobugobobboooobbbooogbbodao
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gogbbbuodgobbooogbobbuoooobbbuoooobbbooobobon
googs1rogon

0517 00000000000DO0OD0O0O0ODO0O0O0ODO00bOO0ObODOoOobOOoooOon
OO00D00O0000D0000DbO0b0obOoOoDOooOooDo 1

O00:00 0D00000DD0DODDOO0ODO0OODOOOoDaO

0 OO :Turn to the left , and you will soon find the restaurant .

0000 00 :The restaurant if you as soon as I left the westwards .
0 00O :If you as soon as I left the restaurant westwards .
000000000000 0DbO00O00DO0ooDOooDOoDOo 2

O00:00 00 00000 0O DbO0OO0O0oa0

O O O :The fumes from the exhaust are poisonous .

000000 :The pipe is a toxic gas , are out .
0 00O :The exhaust is a toxic gas from you .
OO000000Oo0o0oOooobooobooboooooDoo 3
D000 00000000000 O0Oooooooooad

0 O O :I made extensive inquiries prior to making my selection .

000000 :Iwould like to make a widespread before I was a satisfactory
reference .

00 00O :I have a wide range of before I would like a satisfactory reference .

gilggbboboogoobbbuooooobbbuoooobnbboooaoobob
gobbbooogbbobuoooobbbooobbbuoooobboag 200000
gogbbobuooobbobuoooobbbduoobobbboooobobobboooobon
gogbbobooodgoboboooooobobbboooob sgobbbooooobooo
gogbbobuogooboobuoooobbbduooobbboooobobobboooobon
ggbbooboooboboboooon
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5.64 U00OOOOOOOOODLOOOOOOOOO

gobbbugobobbooogbobbuoooobbbuoooobbbuooobobn
gD s5180000

0518 00000000000 00O000DOO0O0DbOOoOoDoOOoooooGg
OO0Ooooooooboobooboboboooont
o0o0:00 0000000
0 0O 0 :Man is mortal .
000000 :men must die .

00O O :men must die .
Oo0Ooooooooboooboobuoobooo 2
O00:00 0000 0O O0O0o0Doooao
0 O O :When earnings and disbursements are balanced , some profit is left .
000000 :The balance is some good .

0 0O O O :The balance is some good .
OO0o0ooobooobooobooobooboonD 3
00000000000 O0OO0oOoooooao
0O O :You may smoke during the intermission .
000000 :I may be a break in smoking .

0000 :I may be a break in smoking .

giigo20o3gbobuoobobgoboboboobobooboboobobg
ggn
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gogbbbuodgobbooogbobbuoooobbbuoooobbbooobobon
gooobos19b0oan

0519 00000000000 00000DO0O0DO0OO0DOOOoOoOoooon
000000000000 0Db0oboooooDo1
000000000000 O0OOoOooooad

0 O O :The night was so hot that there was no sleep for anyone .
000000 :It was so hot that no one could not sleep at night .
OO0 O :It was so hot that no one could not sleep at night .
000000000000 0DOO0oDbOO0bOooOoO 2
O00:0 0000000 O0OoO0oo0oo0oogod

0 0 O :He threw away everything to run to his sweetheart .

00000 0O :He gave up everything in his girlfriend under ran .
0 0O 0 O :He gave up everything in his girlfriend under ran .
OO0ooDoobooobooobooobuooboonD 3
O000:0 0000000 0oboogboooo
000 :I will do anything in my power for you .
OO00000:I can do it , I will do anything .
00001 can do it , I will do anything .

giigo20o3gbobuoobobgoboboboobobooboboobobg
ERERN
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el UU

6.1 UOOUOOOO

gsl2iobooooobbobbbbddddduooooo 200 4000004
gobbobooooboboooobobboooobobboooobobbouooonboon
b 4boogbogobogobogbbogbboobboobboobooon
goon

6.1.1 0OOOOOO

gbgobgbobobbooboobuoobooboobobbobooboobon
gboobgel100D0O0O

061 000000000O0O0O0DOODO
gboooboooboo1l
oo00:0b oo o0ooobobbooban
O O O :Half of this melon is rotten .
000000 :Half of this 00O is rotten .

0O 0O O O :Half of this melon is rotten .
obooobOooog 2
0o0o0:0b000oobogboooao
0 O O :The expedition arrived at an oasis .
000000 :The expedition got to the 0 O OO .
0 0 0 O :The expedition got to the oasis .
oboooboooo 3
0o0o:0bo00ooooboobobooodd
0 O O :The rocket scored a spectacular bull’s-eye on Mars .
000000 :The splendid , O O hit the mark .
0 0 00O :The splendid , Mars hit the mark .
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gl10gbooooooboooobooobo “cob’oboobobooobbod “melon”
gbogbboboboobboobogbuagbb20000bu00booboobbo
O“C000’"dbobobooboiD “casis" D000 0ODOODOODOOOODOOOO
gobooos3soobooooboooboooboobo sob"obooooooogn “Mars”
ggbbobuoooobboooobboboood

ggbbbuogobobboooobbobuoooobbbuoooobbboooobobon
ggbbobooge2bddn

062 00000000000O0DOO0ODOO0O
gooobogoooo 1
00000000000 D0O00ao0
0 0 O :The dog barked like mad .
O00000:The dog barked as I O O .

0000 :The dog barked like mad .
obooboOooog 2
OO0O0:00 000000000000 Ooob0ooooad
00O O :One was an apple and the other was a banana .
000000 :One is another , it is a O 0O O was an apple .
0 00 O :One of the apples , it is another was on a banana .
oboobooooo 3
000:0000 00000000 O
0 0O 0O :t is not very manly to ask for help .
O00000:Itisnot DOODO to call on him .

00O 00O :It is not manly to call on him .

gl1oo00oooobobobobobuonD “co’bob0bob0oDogn “mad” O
ggbbobbuooggbbobouooobbobo200000bbboooaoobbn
O“CobD”bo00ob0boobobb “panana” D00 0O0O00ODOOOOODOODOOOOO
gbooo3goobobooobooboboobob0 “«bboo"obobooboobooo
‘menly’ D0 O0O000O0O0O0ODOODOOOOOOODOODO
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6.1.2 0O0OO0OO0OO

gobbbugobobbooogbobbuoooobbbuoooobbbuooobobn
gogbboobodgges3budgn

Ue63:0000aobon
gobboodao1l
gobo:0o0 0o oobbbodboobooobobobodobd

0 0 O :Mark time until work conditions improve .

000000 :You have to be at the top of the situation may seem like to work .
000 O :Try to see better to work on the appearance of the situation .
DO00O0DO0OOo 2
OO00:0000000000000
0 O O :This is not a matter to be made public .

0000 00 :This is the first publicly disclosed should not .

0 0 0O O :This is not a matter should be in public

glbgobgoobooboobooboobooboobooboobooboo
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